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(Honours Generic/Regular)

: For Honours Generic
Answer the Questions from any one Option.
OPTION-A
( Geography of India and N-E India)
Paper : GGY-HG-4016
OPTION-B
( Population and Settlement Geography)
Paper : GGY-HG-4026
For Regular
( Geography of India and N-E India)
Paper : GGY-RC-4016
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION-A

Paper : GGY-HG-4016/GGY-RC-4016
( Geography of India and N-E India)

1. Answer the following questions: {any seven)

1x7=7

o SRS Y’ Tt ¢ (Rieaet sy

(a)

(b)

(c)

(@)

(e)

Which soil is suitable for cotton
cultivation ?

FAR (AT NI IO T Toicmifit 2
What is the area coverage of India ?

oReIde bife e

Give an example of monsoon dominated
country.

GRS TR eIk A QA (IR I &7 |

What is the population density of Assam
as per 2011 Census ?

0% 5 (FIFHTET e SPPR SRR TG
e

Define agricultural modernization.

PRI AR [ 2

What is the full form of TISCO ?
TISCO ™5 AINTH! 2
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(@) Give an example of a hilly district of
Assam.

SR 93 AR iy Siremel |

(h) Which state of India has the lowest
population density ?

@ﬁwmmwwwwﬁﬁ@w

P2
(i) Name the highest cotton producing state
of India.
SIReIT wibizete @y TAZ Testvm a1
ST I Byt
() Red soil is suitable for crops.
(Fill in the gap)
M R Beime
(471 313 3¢ =)
2.  Write any four of the following questions in
very short : 2x4=8
R P BT 2R e wifs BT forait
() What are the physiographic divisions of
Assam ?
ST -2lfeT SrecaiEn) & R e
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. .  tics of 3.  Write short notes on : (any three) 5x3=15
(i) 1;4?;?:; at.wo unique characteristic | Y .
Tet- OlFeIq 75! TR T S 9| (a) Chhotanagpur plateau
(i) What are the two major characteristics RBREES Tergf
of Indian agriculture ? (b) Islands of India
SR R 757 4 TRB s 2 o S
) I:flrzfli:fjo pefroloum producing regions | (c) Physiographic units of N-E India
OROTN G Seotr 7l gy oo BT OISR -2 e
foran | (d) Characteristics of North Indian rivers
(v/ Mention two causes of industrial %@qwqﬁm IeI1s
backwardness of N-E India. ‘ (e) Religious composition of India
?%QWN CFIS (P 7hr ige | S €l
(vi) What are the advantages of waterways ? } (9 Importance of coal in industry
T~ ARAIRR & e | SIS TR STl
(vi) What are the maj_dr soil types of Assam ? : (9) Locational significance of N-E India
SRR 2 5T 2RI R g T2 ORST R oy
(viii) Write a short note on Karbi Anglong | (h) Industrial regions of India
plateau. | SRR S T
Waaﬂlﬂiiﬁaﬁm«mwmm| ‘
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4.  Answer any threeof the following questions:

o R P e e

()

()

(tii)

()

10x3=30

Define population growth. DiscusSs

population density and distribution
pattern of India in detail, 3+7=10

Describe the Physiographic characteristics
of Assam. '

SR - USSR R v 4

Discuss the factorg affecting density and
distribution of Population in N-E India

with example,
W‘QEWWOW

S TR . oo 2O
CAGTIRN PP Ry ey 3 7 |

What 18 monsogp ? Write a note o9
influence of Monsogp in India
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(v)

(vi)

(vii)
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Define green revolution. Discuss the
effects of green revolution in Indian
economy. 3+7=10

CitE Re 2 ordhE wdfifvs @ow Rem

SO R Se=s 1 |

Divide India into physiographic units.

Describe any one of them in detail.
2+8=10

SRS B-2iplos o Row 11 | ]
Ric1eant by et R 3t 3w |

What are the important factors for
development of cotton textile industry ?
Write a note on the production and
distribution pattern on cotton textile
industry in India. 3+7=10

AR T R Tafe T e TREER

> e oo Foix STHIoR Beol T
reeiT R ot GBret ol |

. (viti) Describe briefly about the production

and distribution of iron and steel
industry of India.

OIS (FT-SHI TS T S Rww
e 3 =1 :

———————————————
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< BIpuj ur P3ire)s snsuao
uonemdod sys1duog ISIg 3y sem uay

uonendod 1o Slusuodugy oy

()
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(v)
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(d) V&{hat ff:lctors are responsible for the
_dispersion of settlements ?

IR PHRR i 7 2

(e) What do you mean b
settlements Yy morphology of

(/ What causes .
Populatig :
R E T e

(9) How is the de
- decadal
population measureq ?growth rate of

TR
[ R RO g T ey =t

R ﬁmwﬁ“%m, 5x3=15

(a) Write g short note o .
nt

Population ge,,
graph
SR G iR
T SIS B oy (Bt vl
(b) DlSCuSs bneﬂy the W |

geography, "~ SCOpe of settlement

WWM%WWI

e scope of

3 (Sem-4/CBCS) GGY HG 1/9, pe 16 10

.

(c) Define migration. Discuss briefly the
push and pull factors of migration.
egeed FREl Tl | eFeny R o= et
PRI G oA 311 |

(d) Discuss the stages of demographic
transition theory with suitable diagram.

ToAYS TH TS (SRS G Rafa
BRI SO 1 |

(e) Write a short note on Census of India
2011. Mention the demerits of census
data.

OIS (EITRE 055 T 89TS Bl 5 (GBIl
ol | FefPTeT SR (RIS S 34 |

() Discuss the theory of internal structure
of towns by Burgess.
AR T ST eS¢ T oy
RIGITIRSI

4. Define population geography. Discuss the
trend of world population growth since 1900

AD. 2+8=10
TRl ol TieEl | voo e 21| e
TR e 4RI R S 1

Contd.

3 18em"4/cBes) Gay Ho 1/3,kc/G 11

- o



Or /9%t

Discuss briefly the population density regions
in the world with suitable examples or

%iagrams. - 10
& THIRY I THF AT TERYR =Y
SR TS ST 31 | )

5. Define settlement hierarchy. Discuss the
hierarchical process of depicting urban
settlements with appropriate examples.

TSR AR W ot | oy Wﬁ;@;%g

AT TR (T v

SIS <=1 | iR R
Or /g3t

Discuss the characteristics ang

settlements with suitable types of rural

4
wmmwmm‘aﬁm%ww

6. pisquss the assumptiong given by Malthus
in his tt}eory of population growth. Examine
the merits and demerits of his theory

AR (OSSP o gy 10

W:%@%WW@%WWWW,
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